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GEOGRAPHY — GENERAL
Paper : GE/CC-3
Full Marks : 50

Candidates are required to give their answers in their own words

as far as practicable.
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[English Version]
The figures in the margin indicate full marks.
Group - A

Answer any five questions (within 50 words).

. What is meant by Quinery economic activity?
. Define migration.
. What is ‘foot loose industry’?

. Mention the characteristics of urban areas.

Name four main iron and steel producing states of India.
What is meant by ‘optimum population’?

Mention the main characteristics of primitive nomadic society.

. Define Cultural Region.

Group -B

Answer any four questions (within 150 words).

. Describe the major differences between rural and urban settlement.

‘India is an agriculture based country’. — Discuss in your own words.
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Point out the major problems associated with Iron and Steel Industries in India.
What are factors responsible for the development of Cotton Textile Industry in Western India?
Explain the major factors responsible for International Migration.
Discuss the characteristics of hunting and food gathering societies with examples.
Explain the factors responsible for variations in world population distribution.
Group - C

Answer any two questions (within 500 words). 10x2
Briefly discuss the influence of transport cost on industrial location as per Weber’s theory.
Briefly discuss how different processes of cultural diffusion help in spread of culture.
Classify different types of rural settlement based on size and shape.

Classify India into major racial groups and discuss their characteristics.




